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R ec a p 0. /ﬂ/‘eréoay /9-67;/4@

J./ If a sequence has 40 terms then number of even numbered terms is _ QO

Y) tevemmz  thewn o. ever mmurmbered tevmi = 20
odd rrmberec] tCrm3=JL|

5./ If a sequence has 49 terms then number of even numbered terms is _ oY &

number of odd numbered terms is 2.




R e c a P of /ﬂl‘et‘L'O« g /3»(,‘7&,;49. L

— Ccd=¢| ,
j/ Three numbersin AP, 2=, 2 - Q +f

: = - Q.+l ,a+32e) — C-c=2¢
Four numbers in A.P. Q-3cl , a-of , Qt+dl, e

Five numbersin AP @-2d ,@-d, @ ,Qa+d,a+2d — C-d=¢

Six numbersin AP @-5d,2-2d, G-d, G+ a+3d,a+s —~ C.d=2

]./ If we pick terms in an A.P. at an interval of 5 then the picked terms will form an
AP with common difference __S9




R e c a P Of /ﬂ/‘et*éo g /ec7u;«e,

8 If a,, Ay, A, Ay, A, ... D€ aN A.P. with common difference 'd' then a,, a;, a5, a;3 ...
will be in __A'P___ with common difference __ < . Similarly a,, a4, ag, ..... will
alsobein_AP with common difference _</d

‘9-/ [fm,n,p,qe N&m+n=p+qtheninanA.P. we have Tt Fo= 1P+ 19

4N

Je/lfal +a,,=10inan A.P.then value of a, + a, + ag + 3, +a, + 2, is 2\ *1T®n)=3Q.
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Homework Discussion
























75 N
QUESTION ) CTK 1 @

For a, b € R - {0}, let f(x) = ax? + bx + a satisfies f(x +- %) — f(% — x) vV x € R. Also the
equation f(x) = 7x + a has only one real and distinct solution.

The value of (a + b) is equal to N (Z+x)= £(3-%
@ 8 L= ex*+bx+a Fis - bt - ol
x)=

S B
Yt abt - X = b /
;g 5 ’_\

-t (R)=T1x+Q has onfy one, veol —

R distinet 3¢00. QQ \\
@ 6 ax3 5"\-}@;‘!*&*&' f“a-—'l&
o Xy \s-’\\x..
@ ? D= Q‘lﬂ\—‘m 0=0 Y4
@ s Ans. B



QUESTION ) —

For a, b & R - {0}, let f(x) = ax? + bx + a satisfies f (x + =) = f(Z —x) V x & R. Also the
equation f(x) = 7x + a has only one real and distinct solution.

The minimum value f(x) in [O, %] is equal to

33 £ )= -2 +7x- 2
8 = —d (W=Tx+41-49 ) -4

'€ e
- _ RS ¥
. T OoRTeg-a
g
= 33 o (xYy)*
® - 2ok

-2

Ans. D



Aao Machaay Dhamaal
Deh Swaal pe Deh Swaal




Avi%metv‘c Mcam
—— e
1L a, b c awe 1n AP then'b iz Colled Zrajle AM bfes & ¥

b-Q = C-b

— b= & +C

Q,b,C e MAPE) 2L=a+C

* "e Q A‘,AQ,AQ—*"AY\ E Qye M A‘) '\'V\QY\ A" -——’AY\ Qvye (O.R_QQQ\

NHAMa bl &% b,
T\=a
Toa=bD b= A (i)
d= h-a
RS




A': a+d
A-C = Q-"'-.tc'

A3 = Q+3C"
I
" |
A-n':_Q""r.C'

A+ A+ - — HA= NG dO+243+ - —1N)

0
2 A= mat dnten) - nad b tned)
b . Bt 528, >

A ,
ZA(: oA W\QD‘Q\A:Y\ \‘J_qaﬂa.q\:“ \Q-HQ)
a + T -



Q, /4' rﬂll""—/Ahlb ket AP

nAM3 bl 226

é Ac= " (a';:b)
(=)

Surnofn Az biy & NO:Z = .(Sm'aie A-™M Lo the w0 no:R)

SXi Q—pL‘yG'QO‘Or\’J'\\"“ f‘R'JQ

SAWM: Hw2g2Q
Suen of §RWa = ‘\+€+8+m+nr\—l\\+\g+ \3=8¢8= % \1*_“’3
h



QUESTION )

Insert 20 AM's between 4 and 67. J
d -~
L’/ A"Az; = == /‘4?_0 , 67 @€ W A-F

22

= €3 4
o? |

0 AMs: J w13, . .---6 64



QUESTION ) @

A 2
If p arithmetic mean are inserted between 5 and 41 so that ratio — = = then find the
p—1
value of p.
M@ 5’ Ar’Al“—;AP y Y| are " AP
N
Ty= Ag=S+24 Taey =Y
TP’- AP—-\ = s+ (p-1)d s+ (PH)d =\)
(p+)d=3¢.
A!, - S'*sd =t
Apy silpaya S
Ist\1sd =g+ 2(p-))q ‘
IS A = W) -3¢ Tp= €21,
| X B /
‘S \3. " bx)
= _‘l(t‘)— S \IRMT AT =T2p-T1L \

i Pt



= 4R
QUESTION ) @

A 2
[f p arithmetic mean are inserted between 5 and 41 so that ratio = = = = then find the
p-1
value of p. d .=
M@ S, A Aa---,Ap 4| Gre m AP
A3 :_3__ TH:.:L”
Apy  ° s+ (PH)d =)
S BN (p+)d=3¢.
Ul— ad <
Js4 130 =82-4\d
Bd= 57
Q =R TH=a

P=\|









QUESTION )

Prove thatS; + S; + S3 + . + Sy = 1,8,5,7- - —-(2n-1)

AP : Th=r, d=1— = m 2,5,1,%9- - @nt)

SrSat Sk - - A Rp= 1\32 2 Ll =) 460 (Vs - ‘&V‘“\)
=0 @A) +f-m)
=



= 2
P
2

CitSy+——t+sp =1 (npP+1)



QUESTION [JEE Mains 2023 (Jan)] ) @

Number of 4 digit integers less than 2800 which are either divisible by 3 or by 11 is

equal to
N(Dg o D) =7 (Dz) +w(Dy)-mn(D3NDn)

- €oo
2799= l9o2+6n-1)3 ~  MN=
$3= {‘,OOZ ) 'OQS, el &7%} = "?? 6" )3
P R N
Day= i'QT?», 0S¢ - - - -T2} — o792 = \023+m-)23 — = s\

'Y\(Bs?tj)“) = Gt \S\ -3\
= 60 H\g =g Py

Ans. 710









QUESTION [JEE Mains 2023 (31Jan)] ) @

QY
o -6d = (@n-4e)

1§-6d = 2 (18-Y4)
)is equal to §-20 = 18—Yd

: 1
12( + P
vaio+yain  Jaini+yaz ST ae
| 2 ( J—Q-!;'JE'9~+ Jajz —Jd&y S ___'_Ja',—e_j—q}) l: .= I

Qn=-GQ,, Q2 - Q) Qe -Q M

Letay, a,, ...,a, bein AP.Ifa; = 2a, and a;; = 18, then
1

"3.?"" ( (JQ\\ n JETO) +(],an‘\r,0ﬁ\)+ (= 1 JKE) == "\’(mg N Wﬁ))

\ Qe - "
_g_\'_ ( \IQ\R SO\\Q>

_\_E'_.(JQ\\-r‘ae\- A—Q_\\:ﬂ

%\‘\ \3): N 1:&'\“ Ans. 8



QUESTION )

Given aq, a,, as, ....a, in A.P. prove that

1 1 1 1 2 1 1 1
+ + + e + = —_—t—t .. +—
didp dzap—q dzdp—2 apd; a; +tap|a; a dp
LHS
V\E!*G'g <Q' = + 1 4+ L+ ——+ é—'q Iy (Qr"qn + Gy +Q 1t
Q4+ Qe [Fay, Satenn % £t Q 4G\ X9 Gy G CQGna
+ ——+QCn+Qq
S Q& o4 QG- & G Gn-2 + — —+ @,+ay %Q')
Q\¥Cn G\ Q- Q;Qh_\ QQ;'O'“")_ QG

Tro, () IR (R &)+ (80)

G“.l
J—-—' 1' L —
0 \4Qq K'&ﬁ N &Q g Y)






QUESTION [JEE Mains 2024 (29 Jan)] )

If loge a,loge b,log. c are in an A.P. and log.a — log.2b, log.2b
are alsoinan\A.P,, thena:b:cisequalto

e o
@ 25 .10 : 4 b=ac SUEse = 65
h=3)
. C=2>
@ 16:4:1 e
Q=l>\.

Qh(’&)« M= 1\

—loge3c,loge.3c — logea

Ans. B
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QUESTION ) @

1 2
How many terms of the series 20 + 195 B 185 + ... must be taken so that sum is 300.
Explain the reason of double answe;N

—_— ; °’=—2. O - Ve
S'.h— 30 3 +\e 1 AT
T!y-'—’,-———r-ras' ng 'Ta'} "“T3'DT32p33

e T
Ny

TS Sye=3w -
— N+ 8n =0y Tago
DN IFERTEN '.}6'-&\1\-\\ (-75'3\ <Q
M=25,3¢ 10 ¢ o\
3

%3












Surn oJ n terms ﬂQP
N et /

= c+ar+aQv*

£ S'n= ar +q71""¢13 o + Gy +arm:

('-V)gn = Q — Q?n

Sh=a(-v") _ & ) I 1=
\-r == ) T+ S= a+G+ - —tG- =&
) YL _\/
,=JQ (viy) v nevens

Lis
“0\ Y :\
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X . *
* b
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x *
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X et
* v
*
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Cvrn of 1mfinite Terms

Nt ™ ™ T
O = 0 savravirarir — —= .9 0< [X]<]
0 -1¢¥v<) , Y5SFO
S = Qim S . = Limy 207" = o

N— =0 N— e |~ | =¥
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Th -
2 K™ fom Endt &P 3 weermt =(n-terl) Teeven drom be§ining >




Properties of G.P) @

Property 1:
In an G.P. product of k" term from beginning and k™ term from the last is always

constant which equal to product of first term and last term.
s K’
Ik = Q-7

Tk ‘ﬂ'vm G| = Q'Q/\«)K"

T\( ‘Q"R gvm S'nd) - GR2.

u
T,-T,_.;=constant=a-¢

— €

{1 3 9 27 81 243

243
243

243






Property 2:

. =%
Three numbers in G.P. : a/r, a, ar —CF
Five numbers in G.P. : a/r? a/r, a, ar, ar? A A
: 3 3\CQ=Y F Lt term it mot o
Four numbers in G.P. : afr’,afranar’ .o _.2 i
Six numbers in G.P. : a/r>, a/r3 a/r, ar, ar?, ar®

CR=Y™
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QUESTION ) -

For a, b R - {0}, let f(x) = ax? + bx + a satisfies f(x + ~) = f(Z —x) ¥ x  R. Also the
equation f(x) = 7x + a has only one real and distinct solution.
The value of (a + b) is equal to

VK
OE
QK
OK

Ans. B



QUESTION ) KTK 2

For a, b € R - {0}, let f(x) = ax? + bx + a satisfies f(x + %) = f(2 - x) V¥ x € R. Also the
equation f(x) = 7x + a has only one real and distinct solution.

The minimum value f(x) in [0, %] is equal to

® -3
(®) o
(©) 4
(D) -2

Ans. D









